Kataokeur) POUTIOTIKWVY XEPIWV PE TNV
Xpnon 3D Printer

\/
OPENBIONICS

Agisilaos Zisimatos



* AKpIBa

o€ OLYKPION HE TIC
OLVOTOTNTEC

* AOOKOAN ETTICKELN

AUENUEVN UNXOVOAOYIKN
TTOAUTTAOKOTNTO

Xpron €EEIDIKELUEVWV
EPYOAEIWV




Yale OpenHand project

4 MovTtéAa POUTIOTIKWV
XePIwv

MEd0B0C KOTAOKELIC
Hybrid Deposition
Manufacturing

Open Robot Hardware

HARDWARE



* EAOOTIKEC APOPWUTEIC
- MMpooapuoyr o€ avTiKEipeva
loXUpPO KPATNUA TOL QVTIKEIPEVOU
oKopa Kall o€ TIEPITITWON
aBeBaiotntag otnv 6€on Tov.

* YTTO-ETTEVEPYOUEVA
Meiwaon ¢ HUNXOVOAOYIKAC
TTOAUTTAOKOTNTOC, TOU KOOTOUCG KOl
TOUL Bapouc.

* KOTOGKELK ME OTIAX EPYOAEi Kl

VAIKO

Joint2

FingerPIP

Joint1




* AIOQOPETIKEG BETEIC TWV OOKTUAWV

* AlO@OPIKO
ETUTPETIEl TO OVEEAPTNTO KAEIOIYO
TWV OOKTUAWV

* 'EAey)X0(
Arduino
Robot Operating System (ROS)
Interfaces




* AlXQOPIKO
MNXaVIOPOC KAEIOWUATOC

* Mnxaviopog Avtixeipa
9 JI0POPETIKEC BETEIC

* ESOTOMIKELHUEVA TIPOCOETIKA XEPIX

Middle




Board 5.2.1: Palm Parts

e github.com/OpenBionics %
 openbionics.org g0 0 ,

palmUp

palmDown ‘mainBar basePulleylnsidePalm  M3ThreadedRod
\ ‘\ —~
w
\ o 4
pulley M3x16, M3x20 M3Washer M3Nut

Board 4.1: Tools

\—

Long Needles [D:1mm, L:70mm] Precision Ruler

Glue the flangePlate
Long-Nose Pliers with Side-Cutting Cutter on the dovetailFemale.
p Place the flangePlate
® on the Hand.
Scissors Phillips Screwdriver [no. 1,2] Screw M3X20 bolts through
the M3 Nuts of the Hand.
e '_]
Open-End Wrench [M3 Hex Nut] Allen Wrench [2.5mm]




Thank you!

@)



